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1. Give very short answer : 1x12=12
. ofe Mg Teg e 3

(@) “In an inductive inference the conclusion follows necessarily from . the

premises.” 'Is it false ?

AT SR (A SEAISTE B ReTe 7 17 @Bt ) o o

(b) Find out the correct answer ¢
u% T (R[0T S ¢

In analogy, we pass from particular to general / particular to particular /

~ general to particular / general to general.

AT SR SR - [{eE (A AN/ R cwﬁém#/wmm} (A
RO / S (A A BT 2R |
(c) Iﬁ which of the following kinds of induction, there is no indug:tix}é lezi-p"‘?@
TR IR AR QBTSSR <ifs! 21 =
(i) Scientific induc;tion e '
zav;srﬁas gy |
(ii) Analogy
FPTLTS S
(iii) Pe:rfect-induc'.ciloﬁ
of<f =ie
(iv) Unscientific induction .
S ST
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(d) “The ground of induction is itself a result of induction.” — who did say this

statement ?

‘fwm%%iwwwr’—a%@l%ﬁ @W?

(¢) Which of the following is not a condition of correct observation ?
e @Rt g FSweR 9 =S 792
(i) The observer must be intellectually sound.,
(ii) The observer must be imﬁarfial.

AT TFollolN 2o 3@ |

(i) The observer must use artificial instruments.

Rarwere Flan @l IR e 7@ |

(iv) The~obslerver must l_lave sound mind and body.

RarFo T8 W 8 *fie SR 2o T |

(f) State any one condition of a legitimate hypothesis.

RY DGR (T (I G956 Wreg T Il |

~ (g) Fill up the blank :

R 79 Sl 8
Hypothesisisa___ supposition.
AP RN G iR QFel|

(h) Name the experimental method which is based on the following canon of

elimination :

“whatever antecedent can be left out, without prejudice to the effect, can be

no part of the cause.”
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Tova SEPRCR I@0d AR AfSFe *MPFTES delta A Tl
T I S A T RS KBTI (3 S e T WX, G e TS
T A FACER (PIEN W 2O Al |7
(i) Give an example of primary quality.

GTifeRs J 2 SR 96 SuERd Wi |

(/) 'Who is the author of “An Essay Concerning Human Understanding” ?

“An Essay Concerning Human Ur_lderstanding” ZF T (T2

(k) Which of the following is an object of moral judgcment ?
e @At wios Reew Rerw?

(i) Random action

F AL
(ii) -Habitual action 3 |
(iii) Instinctive action
B G T
(iv) Actions of children
[RENTRY
() What is the meaning of the word ‘Mores’ ?

“Mores’ /67 5 H1?

2. Define scientific induction with suitable example. 1+1=
Boe SRR A SR SIS WS |
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State two points of difference between scientific induction and unscientific

W

uiduction. ‘ 2

e e @ R S 77 A S T

4. Define good anal’ogy. with suitable example. 1+1=2

%‘ﬁ@ @mwviwmmwml

What do you mean by paradox of induction ? ‘ | 2

WD BRSS9 @[

6. How many forms of uniformity of nature are there and what are they ?

2
agfen qemmerel Rt eiEs ot oI @ Grof 9 e
Or / 241
Distinguish' between agent and patient with the help_of suitable example. -
_ ToYE BRI R A € R Soiemeeta o SN craie |
7. Briefly explain conjunction of causes with the help'of suitable example. 2

SoYE TR ARG IR G I PR AR A6 g IR
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Or /@

Distinguish between plurality of causes and conjunction of causes. 2
Ry TIReRM @ IR T I IR ISR T A (7 |
8.. Mention any two qualitatiVe marks of causation. 2

PRI @m@?mﬁ@ww«m_

9, State any two advantages of obs.ervation‘over experiment. 2

AR TET FEweR W.@W-Wfﬁ Ry T IR

10. Give such a concrete example of the method of agreement where we proceed

from cause to effect. ' 2

S AN AT GG NG BHizae wie mwwq,cﬂﬁmwwﬁl_

11. Why are the inductive méthods called ‘methods of elimination” ? 2
AT AR @ TR A@S @il 22
12. Explain the etymological meaning of any one of the following words : 2

WA T (P! 4P ﬁmg;avrf%%wf.ww‘:

(a) Religion

(b) Dharma

<

o3
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13. "Who did define rellglon as the “recognition of all our duties as divine

commandments” ? Mention one defect of this definition. 1+1==

TN AT FECE GRS Wiz e T mﬂﬁmwi”—«ﬁaaiwawﬁ
(P UM IR 2 G @by 936 & SR @1 |

Or / g2

Who did define religion as “an emotion resting on a conviction of harmony
between ourselves and the universe at large” ? Mention one defect of this’

definition. ; i ' 1+1=2

“4f 21 “EREE IR, [ R v (T T 8 wmmmwﬁmmwn”.—
O €F TREB T oM SRR ? 98 WG GF & S @t

A

14. Explain with example the quantitative mark of cause from the standpoint of the

principle of conservation of energy. o 4

ﬁ‘f@? Hwﬁa@mwﬁWWM%‘m THIER-TE PR ﬂﬁﬂm@
=T RN I |

15. State four uses of hypothesis. | ' . ‘ ' 4

AP DI AT B TN |
Or / gt

Briefly explain the four stages of a hypothesis. o 4’
SR BT B A IR [ |
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16. What is a crucial instance ? Briefly explain a crucial instance obtained by simple
< observation with the help of a suitable example ] - - 2+42=4
| W@@mﬁﬁwmmﬁv@ﬂ— meﬁ%ﬁwmmﬁm
RCFCA 2UT‘QI'JT El"-C?lTI .
17. State two advantages.and rwo disadvantages of the joint method of agreement
and difference. ' ' , | : 2_+2=4'
ot erE i 2Tl 776 1Rkat ¢ 76 woRaE S 3@l
Or /
State rwo advantages and two disadvantages of the method of concomitant
variation. B . 2+2=4
TRARRS Mt 75 Rt @ 7ff SRRl Sea @t
18. What do you mean by realism ? State any two differences between naive realism -
and scientific realism. . . 2+2=4
QAT T B IR 2 S T @ WWWW wmwm‘ﬁvnw
Trard |
19. Briefly express Jour points of criticism against naive realism. | 4

| A AR RFm s ST AT 27l Bl |
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Briefly express four points of criticism against scientific realism.- 4

WWMWWWWﬁWWI

What do you mean by idealism'? State two points of difference between rcahsm

and idealism. ) . 2+2=4

SIEM T B @RI ? AGET S SRR T 7 e Sme v@)

What do you mean by a normative science ? Why cthics is called a normative

science ? '  242=4

Sy feer <ers $t @ AR @ 9w SRS Rew = =)

- Does the end justify the means ? Give a reasoned analy31s with the help of a

~ concrete example. : 4

‘mmwwmwwﬂ%wmﬁ?@ﬂ@w%m%mmg%ﬁ

Rese Wzm
Or / 92t

What is motive ? Distinguish between motive and intention. . 1+3=4

ST W B2 Srrely kSR W A9y Bl S -

- Mention four points of similarity between religion and morality. -4

asf\etzr’l&—qmwim BIFIG St Sz e |
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26.

27

Slatc_ three similarities and three dissimilarities between analogy and

unscxenuﬁc induction. i _ 3+3=6

'Wwemmmmw meﬁﬁm@@w

B

Briefly explain, with example, each of the three kinds of hypo{hesis according
to L. S. Stebbing. - (abl2it212=6

- L. S. Stebbing @3 ORI 2T 2P [Em/o7 eifoba Swizzd-s1z Ere 27141 I |

“The method of agreement is a method of discovery and the method of
diffcrcnce is a method of proof.” — Explain the significance of this remark.

g
Wﬁﬁﬁ@ﬁ%ﬂﬁﬁwﬁﬁaﬁﬁmmaﬁl”ﬂw%ﬁeﬂ
G T |

Or / qe§t

Define the method of difference in your own words and give a concrete example
of it. Point out, with the help of an example, how a careless use of this method
leads to the fallacy of post hoc ergo propter hoc. - 2+2+2=6

Wﬁmwmﬁmﬁaﬁawwmnmaﬁmm%@@wml
SRRHIASI G el etdel T el ot FReem mzﬁ—ﬁﬂ,nﬂaﬁ@mﬁq
TREANS (TS | '

What is Berkeley’s subjective idealism ? Briefly express Jour points of criticism

against this idealism. : . 2+4=6

ASER WD ©ikQm F2 G2 SRATE Recs Sk s Wﬁ\mﬂaﬁm |

|
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What is objective idealism ? Briefly express four characteristics of this kind of

idealism. : : 2+4=6

TEAO SIAM F12 G2 @R SRAME 5IF/5 (@RS T SN TR |
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